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QNGHUICTITLILIG T & @ &HSTe0T CLMG| &MILILS6N:
General Instructions to the Candidates:

) NS Se UL LUl 7S, eNfleurs afleL wels@n amsulleid 2 6Teg.
This Question Paper is descriptive type in Degree Standard.

i) ENGTUETILILIGTTT SHUHEOLUI L6 eTeiuienenr LNFETen eNlenl Hmefled SUSHETET @SS L
QLSFL LLEGWL 61y Geousu(Bd. Gouml 6HF QLSHVID LSy 6T6uoTem6unT  SHetorig LILITES
(PSS Fal MG).

Candidates should write their Register Numbers in the space provided for in the main
answer-book only and should not write anywhere else.

i)  elemgsrameng SO LOMID PRHO QGRS 2 6long. JCHMID FHCHSLD
@ @LULN6, gmdev eugeed SrUUL (hetem GMILULSGCET (LIg.eUTESIS).
The Question Paper is printed in Tamil and English Version. In all matters and in case of
doubt English Version is final.
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V)  eleueiugnyiser eNaméserd@ SLONGCOT 6L60E RIHOGHCOM G LGS
SLOIPIGeom OMID UGH Y mFHGHHGCem allenL wiaNégHeomid.
The Candidates may answer in Tamil or English or partly in Tamil and English.

V) GTuETLILIGMTITS6ET eNETTSS6T LMMILD Hl6n6wT eNTTEHSAN6I 6TEUIIHMET SH6U0rlqLILITS 6T(LDS
Goueir(Pd. Sieueumml 61(P&S SHeullenmed, 9ihG ONMLSEEG 6THHeNG LOGILICLIETIETILD
QILDRIGLILIL. DML M.

Candidates must write the correct number of the question and sub-question. Failure to
do so will entail loss of credit for the answer.

vi) B5CaImey  QUTMISHeUD],  SPBTE  6(PGHIEUSHCHT  LMHMID  LenLpueLELTLOED
SIPAWSHETECEUT ST LOFIICILTISHET ¢|SSLILL aNELEM6V.
There is no reservation of marks for neatness of execution and correctness of spelling
In respect of this paper.
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Difley - o
SECTION-A
WWesE HMw serelled el wef&GL 6T 6lms)
(Very Short Answer Type)

GO 1) @aIQeumstNNE@GLD 30 AFTHEHEHEGSG ST el wiafdsHeld

Note:

Answer not exceeding 30 words each.

i) @aQeur@m eflamelH@L e6TmI LoFLIQLIETH S 6T
Each question carries three marks.

iii) Qer@E&sUIUL(Heten (PLLSMSHE eNearmsseiled sTameuCusnID (UL
6IMESEhHG GHMDHHLLFLD 6(h N6uTened 666U
LGHUNOBHG CHTHOS(HHH aNenL ieisH&e,LD.

Answer any thirty questions out of thirty-five questions
attending atleast One question from each Unit.

(30 x 3 = 90)

[ uniT-1 |

(MODERN HISTORY OF INDIA AND INDIAN CULTURE)

‘Q&etTement LOMBlEVLD 61601 QUILIT SLOPHT(H 6T6TMI OMMHMULILL G| 6T6UEUTM)?.
How was the name Madras State changed into Tamil Nadu?

‘Q&ectenent  OTHleLGHH6oT HILS @QUIGSRHIGETET  HHend' 6T60Tm  SQNETTHEORISHLD
QFLIquWIMy Sieuf&Hemenll LS (Piqud - @&Famenm HMULILIGESSIS.
Avinashilingam Chettiyar can be counted as "The Father of
Library Movement in Madras State' - Justify.

LL6OTIT 2 L 60TLIQ &6m&UT6T (D&HHUISHIOSHMS G(HEHSLOME 6LMIIE.
Sketch the importance of the Poona Pact.

SIBML1g5 QenFune (L&eimemd QuUiLLBenens GMOILNGS.
Point out the Chief features of the Carnatic music.

1964 oyib oyeoip 2 6wiey LNJFSemeM THTASTETET 6VTL LSBT FTarvdif
6105 L UG EENSHSH6IT UIT6M6EU?
What were the measures taken by Lal Bahadu Shastri to tackle
the Food crisis of 19647
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10.

11.

12.

13.

WeveSh&emen (PETGaTHMIUHD HNSHTT QUISSSHS 6T LMSemerd GMLINGS.
Point out the Aligarh Movements' role in uplifting Muslims.

QMEOILIEST eumeLmLINTS L(HCSTeneD 67651 HSBLPHSS)I?
Why did Jallian Walla Bagh Massacre take place?

SMhHBUNeTT HCHH HLL GHl6tT (P&HILISHIUGHMS GSOILULINGS.
Trace the significance of the Swedeshi Programme of Gandhi?

QuetnigeMest COWLUML MG CHIH s Q&M 6UHS FLLMRIGSET UITen6d?
What were the acts passed by Nehru Government for the
upliftment of women?

g FIEHMSHS QWEHESHNG Ferveu] FHEHT eNGSWTEFTSF6r (PSHEHW  LR&enest
Famis.

Mention the important contributions of Ishwar Chandra Vidhya
Sagar in social reform movement.

‘555 BTLIGUSHET FHMULSHENET 6UMITS.
Write the significance of "Kathak" dance.

1885-gilb g6 STRATV SLAUNGT (PGHL MBHTE (WLDemLUNE BHLSHSLILL L &)
676017
Why was the First Congress Conference held at Bombay in 18857

| uniT -1 |

(GENERAL APTITUDE AND MENTAL ABILITY)

X e601 6T680r Y eT6vim 6Tsvuiemennt el 10% @ewmpBGID, Y 6T6vm 6TevurensNed DALY
130w el 10% oihswrsab QmbHTed, X601 WHLIL SHTens.

If a number x is 10% less than another y and y is 10% more than
130, then find x.
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14. @@ usws Qamensullstt WBgmer  Hefleulquinerd (WHSLEG QFTansuNed g

UGHWMGD. eUlly afplbd WHMID STeod &6 66 SN &FLOW  6Teofled,
SIUMMME SIT6TIS.

The simple interest on a sum of money is g of the principal. Find

the rate of interest and time, if both are numerically equal.

15. @@ uev g&an5Her e L 140 Q&8 e waM CrrsHs 66 &5 Cousdms
558 MaHH FHEID O  CuTg THHMET GOSN @) HIOLHSleL
JOUGSHHID?

The diameter of the wheel of a bus is 140 cm. How many
revolutions per minute must the wheel make in order to keep a
speed of 66 km per hour?

16. a:b = 5:9:b:c=4:7 o8 QmUieT a:b:cei WL ST6Hus.
If a:b=5:9:b:c=4:7. Find a:b:c

17. sal p&enmefluNet SEuGHIID LGS 6T1(LSI.
Write the mathematical properties of Arithmetic mean.

18. @® GGLUSHT 2005 EWIGHETET  QFevey eMNeufd SpSETamid UL
QMILULSHHL QaTHSHSLILL (HeTengl. Corggs G&Feve| 900 6l6fled eUML MG, Heva
wHMID CFOILNGT CQFHTnSHUTNEMETTSH STEUIT6LD.

Gabliy

@s7 QFaayser st

SUTL6M&

The following is the pie-chart showing the expenditure in the year
2005 of a family. If the total expenditure is 900, then what is the
amount spent on food, rent, education and savings?
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19. @@ wHmsFHQmeET LHCAIL gL WeICUDNHSTS WaeNT SRHUNGHS BT Sefedr
elugd EC Q&THSSILL (HeTeng).

SRIHUNBHS BT S6M6dT 6TET0T60NEHMS 4 15 |6 |6 prlsmer el Sifsb
&6y 6T6iuT6utN & 608 1135135
5S|2]61|9

sTUGTEMID ep@BeuUsm) FOEUMUILL (WemMulled CHIHhGSHHHGSLCUTE Sal] GmmbHs
UL&LD 5 BTL&6T SREUNHES HHLDSHEH6) 66016017

A Hospital records indicated that maternity patients stayed in the
hospital for the number of days as shown in the following:

No. of days 3 |4

5

6

More than 6

No. of days 15 | 32

56

19

5

20. @ mmqulsd 1 fsiy 3 usems, 2 Femd, 4 WEFET  LHGHISHET 2 6iTerer.
LMauNBh%H @@ UbHMG HSHSHTL G LFMHFILTSECOUT 6L6VG LDEHFTHCEUT

ABGUUSDHG HSLDSHS6) WINg)?

A jar contains 1 red, 3 green, 2 blue and 4 yellow balls. If a ball is
chosen at random from the jar what is the probability that it is

yellow or green?
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21.

22.

23.
24.

25.

26.

&G Qarr&sUuL Geten Hensmeusniseaier aNflansssms Frea
@) CD-ROM

(@) EEPROM

@ DRAM

Expand the following memories.

(a) CD-ROM

(b) EEPROM

(c) DRAM

H&6uoI(H 6T60TMM6L 616076017 62(1h HGeLI 6TEUILOIGGHENED 615G 6M6u HGHEHU(HGH6IT 2611662
EBCDIC erettugett eNifleunssid etsireot?
What is a nibble? How many nibbles that a kilobyte contains?
What does EBCDIC stands for?

[ unIT - 101 |

(ROLE AND IMPACT OF SCIENCE AND TECHNOLOGY IN THE
DEVELOPMENT OF INDIA AND TAMILNADU)

SlENGHmeT &HSHD CFLIQISNDEG Fevemeu GEMLL| sTeueUTM)| 2 FHHM&I?
How does detergent soap help in cleaning the clothes?

@7 @6l Y@ e6aTmmed eTetten? iG6tn HLINene getT SI AHVCHTH & (5.
What is one light year? Give its value with units in SI system.

@® Qo s WHaCHEHUNG, LOGCHEG HMemeT UTHEGD SHMTeuunsern
WLITemeU?
What factors affects the capacitance of a parallel plate capacitor?

SMENGHTELEOIGET Tl  UMSLLGSHSUILGEHTMET?  6R6lCleUTHININGLD  621)
2 _GMJERILD &(HS.
How are herbicides classified? Give one example each.
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27.

28.

29.

30.
31.
32.
33.
34.

35.

gemLowled 2 L] (Camquilb GCenmeng®) Hifled SHenphEieTengl. G HLDELSHETENLD ()
&S SH6TenD (3) HHHMEVSH6MEMID 2 6MTEMGT? SHTEWILD Fom)l.

The table salt (sodium chloride) is dissolved in water. Will the
solution be acidic (or) basic (or) neutral? Why?

QgeL CHTLLMEH 6T60TMMEL 676016817 JSCHTL LML 6mL (LPETCLDMNHSOUTSHET WITEI?
What is cell theory? Who proposed the cell theory?

2 uNfl  BHLTESESSHL LWGTUGSSUIUBD  CPETM  CPVEFam  S(HONSEMETILILD
SleuMM6tT §&65 LweTsmemud QuWfl(Bs.

Give any three molecular tools in gene cloning and their respective
functions.

Gumy ellemene] - aIEDILIM].
Define Bohr effect.

umeL LNem6TOTLIL S363T&HET 6T6OTMITED 6T63T6?
What do you mean by sex-linked genes?

CaMLmeti&Hemnen, ,60MqCHMLMesr&eNedl(phg CaimubGesHsd sam
Differentiate codons from antocodons.

O(H&G CUITIHET SHeUmmest LILITUT(R 6T6TMIT6L 616316012
What is Drug Abuse?

Silblev WML - auemIUIM)..
'Acid Rain' - Define.

@@ 6T6uLbuNeL 61HHeM6sT HITHLOGS6T QHSGLD? 1HHM6sT HCELM 6TEHULNGSH6T 62(Ih
Quar eamiomwsd GNs&HmE? ASCIIL aerugesr eNfleunésid et

How many bits does a byte contain? How many kilobytes does one
megabyte represent? What does ASCII stands for?
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ey - s
SECTION -B
(G (HS5SHLMG NenL WG 6T 6UMS)

(Brief Answer Type)

GO 1)  eaQeaurm elamalnh@w 120 QemmeErs@ ST

Note:

36.

37.

38.

39.

40.

aNenLwef&&eLb.
Answer not exceeding 120 words.
) eaQaur@m eNamalnHGL L@ LHICLIGTISET
Each Question carries eight marks.
i) Qar@sasiulGerer uHAILH aNamésafed dmeuGmID LHeahal
QN6TESEhHG GHMMHHLLFLD 6(1h N6ITemEU €R6MG6UT(H
UGS UNO(BHGH CHIHOS(HSHSH eNenl uleNésHea]L.
Answer any fifteen questions out of eighteen questions attending
atleast One question from each Unit.
(15 x 8 = 120)

[ uniT-1 |

(MODERN HISTORY OF INDIA AND INDIAN CULTURE)
s (WICaTODHHNEG HHé s.8 oM Caemeudemen eNifleuns e1(LHGHIs.

Elaborate the services of the Justice Party for the upliftment of the
society.

1993 gylb oyemi(h LEHEFMUSSHITTEY FLLSH6T HMLILSEM6T SIS,
Discuss the salient features of Panchayat Raj Act of 1993.

1953 gy oyem® g6t Heofl HET OMHEVD 2 (HeUTSSLILL L GI?
Why a separate Andhra State was created in 19537

aorealL pr@ G&MEsS F.Cougm. Quiflwnflen &@mSHWedL eusmyelisnss LLELINGS.
Assess E.V.R. Periyar's conceptual framework of Dravida Nadu.

SLOP&SHSL QUTL (R SL(hH6L' LLN&GSHLD eTelalFLd LNGSLILIL L &]?
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How was the social evil of 'Pottu Kattuthal' abolished in Tamil
Nadu?

41. Qastremeor LOMTHLSSHL LNHCUTEHG eund Heolomesil (LPMMUN6TT TEFEFMISET eTeUNNGLD
Hé&sLILLL 6012
How was the remains of the repressive feudalism done away with
in Madras State?

[ uniT-11 |

(GENERAL APTITUDE AND MENTAL ABILITY)

42. sginsHett MG USSRSEEL 25% afssHed  sifswmermed, UFLLNeTeNedT
§561% LMMHDEHME SIS
If each side of a square is increased by 25%. Find the percentage
change in its area.

43. @uen( eetasefett B.QUIT.LD 14 WOLMIG WB.QuTey o485 Q@wLUNedr, B.Qum.o., 5.Qum.e
allett Fal (B CHTMSE 600 Y&, 6(H 6T6v0T 280 P& @(GLUI6H, LOCMTH
6T6UOT6M600TE  HITEU0T6YLD.

L.C.M. of two numbers is 14 times their H.C.F. The sum of L.C.M.
and H.C.F. is 600 if one number is 280 then find the other.

44. ewm syrefluler UsNsmear aNeuifléeHea L.
Explain the function of an average.
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45. @B 40 awgne weere giemeust 70 g eueny 2 uNCImE @ELUUSHSTET

hspsse; — woHmd SO0 auwsTEh sauass 80 auwg ey 2 ulCym@

QBUUSHSTET HHNHEH6] — PG, SPESHEIL HELDSEH6HMENE SHT6TIs.

3l) @rewi® Cu@ 2 uNGrm® @LLSHEM HSDSS6

o) Wenesiall LG 2 uNCITE @UBLUUSMHETET HaHLDS &6

Q) @G LLED UGG QBUUSHETE HEDssa)

)  @ODHS ULEFD  ep@meunmag  2ulCimG @OUUIDHETET  HSLNSEH6)
SLEWUMENME HTEUBIEYLD.

(
(
(
(

A wife who is 40 years old living till she is 70 with probability %

as the husband who is 50 years old living till be is 80 with
probability % Find the probability that (a) Both will be alive (b)

Only wife will be alive (c) only one will be alive (d) atleast one will
be alive.

46. gU6e| CHeeHH6 QemeTaTaTmel selaimm 2 WSS (LIGU|D? SiG GHSS 6T1(PSHaLD.
How can one increase data storage capacity? Write about it.

[ unIT - 101 |

(ROLE AND IMPACT OF SCIENCE AND TECHNOLOGY IN THE
DEVELOPMENT OF INDIA AND TAMILNADU)

47. Gmm SLHHUNL LWTUGSHSLUILED P eUm& LOM&HSET @Qrauigenestsd  GOIUNGS.
Qemer, 2 GM SLGHHUNmeT LIGUGRSHHID CUTE 6TeomesT CQFWIKTMES?  Lilg &
SEN&CHTemeUUNETISH UL LD 6UmIh, QQILMlLSSHL BHeoL QUMD r&UGHSHID
HapaNemer aNenédEs.

Mention any two materials used as 'p' type impurities in
semiconductors. What does it do when doped in a semiconductor?
Draw the crystal lattice diagram and explain the doping

phenomenon in Germanium.

48. smjGuneiiL &Het HWITHLY HMID LWIETHEDET 6T(IDSIS.
Write the preparation and uses of carborundum.
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49.

50.
51.
52.

53.

geurg  GamLum(® elmIuUmISH SiG eeleumm &uns  peddam UTMISHS
LMMIUGHDG! 6T60TLMS ONENTEHS .

Define Respiratory Questions (RQ) and describe how it varies with
respiratory substrates.

LUCITCaHGWMe & QFeL&aNedlBhg W .Cafluimed QFed eteuaumm CaumuGHmSI?
Explain the various measures to tackle poverty.

Gumemg QUTBET LIUIETUML IqMSIT6T STIEIIMISEneT 618G 5.
State the difference between eukaryotic and prokaryotic cell.

GOHMIESHLOL gmer siflew wempuesr LTSN AN S.
Examine the causes of drug abuse.

@uesunig 6o HITUL (WeoDUNeL NetTeU(BLD HLAGHMEL CFUILIO|LD.
@) 11000 — 10000
@) 10101 - 10001
Substract using 2's complement
(a) 11000 - 10000
(b) 10101 - 10001
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Mfley - @
SECTION-C
@Nfleurs eMenLweN&H@GLD N6 6UMS)

(Detailed Answer Type)

GO 1) @6uQeun@p efemmem@Ld 250 QAFMHHEHEHSG LOSTLOE
eNenL WeN&Hse)]LD.
Note: Answer not exceeding 250 words.

I1) @euQaun@ efemalHEGLd LSHenehE) LHIALETISET.
Each question carries fifteen marks.
i) Qam@&sLILL BeTen @6Tug eNamésened damauCIgIDd opm)
N6TESEhHG GHMDHHLLFLD 6(1h N6ITemed €R6MG6UT(H
UGS UNO(BHGH CHIHOSHSHSH eNenl uleNésHea]L.
Answer any six questions out of nine questions attending atleast One
question from each Unit.

(6 x 15= 90)

[ uniT-1 |

(MODERN HISTORY OF INDIA AND INDIAN CULTURE)

54. se0ggseMsT  CLLUTLIRNG 2MPSS (S SeMeveU] 616D SllgLiLienLuTled
SACWISHS g UeigGemyl UMM 6T(LPSIS.
Write about Ayothi Dasa Pandithar as the first Champion of dalits
upliftment.

55. @nHwnaNed QeueuGoum FLOWI-&FCLNS QUISSRISET cTeuaNHld NSRS @&eomBlIE
FOPSHMLIGHMG CHAW  Senaned (LP6TGETM  MEUHHE  6TOTLUSHMSTE  6UTEOMDEMM
1916-g41b Syetoi® 6uemy Sylley QFUIS.

In India, examine how the various socio-religious organisations
and movements uplifted the backward Muslims in the National
Scenario upto 1916.
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S6. "warsLT SMHE @M HMHG ATHWE Hmeveu] L (B, LIMTE WsE HMHS

FeWs QUTBMTEHTY FIHHSS6UTH" GG FJamUUL L eUTESHWSSH6 ilgLiLemLUN6d
SMHHIIG ST  QbHITONDOSTE  QUTGBEMTHIID  LOMID  FP&ESSHDHG  BMHOIL
Q& METUTIG.6M60T Y ITLIS.
Mahathama Gandhi was not only a great political leader but also
a great socio-economic reformer? In view of the above statement
evaluate Gandhiji’s contribution to the economic and social
spheres of India.

[ uniT-1 |

(GENERAL APTITUDE AND MENTAL ABILITY)

S7. @ Geuemevemw Q-eyid Rib Capng Qauwuwd <G5 CrrsHed P-wmed Qe
wigud. Pud Qud Cejng 1G5 Couemevenws 12 prisefllsd Qg Wigés
Wigud. Coeib R WLEL 4CH GCeusmevsmwt 60 prlisefied (PKdS UPIGUD
staarmmed Q-6umed 61 GHenen BTSN b Gelemeveml (LPlgd& (LDlgULh?

P can do a work in the same times as Q and R together. Also, P
and Q together can do the same in 12 days. R alone does in 60
days. In how many days can Q do it alone?

58. @m Q® aufiFsmmeounsd GOUNLL @, BTeNed @@ ST CUTSHETMHIS6M6T
Coussemg Gengenenr  CFWISTT. Uy Camgemer QFUISH 180  6UTHEIMRIS6T 6T
Gousmisafer HlepGeus UL iquied &G QaM(hEH&ULL (HeTens).

, 30- 40- 50~ 70 b 2IBHS

Ceusld (&.15 / oeuwN) 20-29 39 49 59 60 - 69 Clogui
USR5 6 31 14 | 23 | 28 | 35 50 8
61600160011 56015

@@ UTHIHMEF FLOUMLILIL] (PeODUNL CHIHOSHEHGCUTEH FH6T Geushld
@) 69 &8 / we- oL fHsLNS

@) 20 &8 / weluNedmHg 39 & .15 / e eueniy

@) 60 8.8 / LENGGLL GMMEAUTS

) 40 &.6 / weauNedmHgs 69 &.8 / e eueniy

IR, &LPeL&6aNstT HaDSSHaNemer &Ll
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On a particular day a policeman observed vehicles for speed check.

59.

60.

ol.

62.

The frequency table shows the speed of 160 vehicles that pass a
radar speed check on dual carriage way?

Speed (Km/h) |20-29 [ 30-39 [ 40-49 | 50-59 | 60 - 69 |70 & above

No. of vehicles 14 23 28 35 52 8

Find the probability that the speed of a vehicle selected at random
is

(a) faster than 69 km/h

(b) between 20-39 km/h

(c) less than 60 km/h

(d) between 40-69 km/h.

[ unIT - 111 |

(ROLE AND IMPACT OF SCIENCE AND TECHNOLOGY IN THE
DEVELOPMENT OF INDIA AND TAMILNADU)

QUINm&UNDL UMWLHH([BSGWD gLl allemgsailer gCHamID cLpeTmlamess Fam,
afleuns eNen&Gs.

State and explain in detail any three of the fundamental forces in
nature.

sreveunefs LO6TEH60SS6oT eUTNSIT SWITeT LILI6TUTL lq.6m6ar eTleufl.
Discuss the commercial applications of Galvanic cells.

weNgiseile euTp&Hma GWLUML 160 STeughigeile UR@ UHM afleurs (pgiaL.
Enumerate the importance of plants in human welfare.

weNg CIMEAIISHE SHDHMIFHL606T LIRS alendhs.
Explain the role of environment in human health.
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